R3. AIAMBE LB RASRREY IHHGE—&

No. =] 3 KAFERA) |p% HH 5
1 200m C: IR 1A (BT 14z (@)
2 110mH C: &H Eth (Z k) 14z (@)
3 4%x100m 8 EIETE 141 (@)
4 E= Bk g RO @EX (BIERZ%) 141 (@)
5 1500m z BE Hl IN#R) 14z (@)
6 100mH 7 =R £7R (B ) 141 (@)
7 Em Bk 7 A EB (B ) 14z (@)
8 400m 58 AR MER (B TZ) 24 (@)
9 3000mSC 5 |TF &R (Ih#K) 241 (@)
10 200m = FE B (RERE) 241 (@)
11 4x100m = =g 24 (@)
12 4 %x400m £°g A CESES 24 (@)
13 E= Bk 7 ik # (&R 24 (@)
14 =ERBk z ik # (&R 24 (@)
15 Y z Bk BHE (ERIHFE) 24 (@)
16 100m 5 HIR 1A (BIETZ) 31 (@)
17 400m 8 & EX (Z k) 34 (@)
18 4 x400m E:] BBTE 3 (@)
19 100m = FE EBK (RERE) 34 (@)
20 3000m 7 £/ R (BERAX) 34 (@)
21 100mH 7 NG B (FEde) 34 (@)
22 400mH 7 B 2% (B 3fiL (@)
23 4 x400m E°g B 3 (@)
24 ENEBk Z AP (2 GERD 3 (@)
25 YK Z LR (BIEFITZ) 3 (@)
26 110mH E:] JEH T (EUEE) 34 (@)
27 100m 3B £MH Kih (BT 44z (@)
28 200m 5 . Kk (ERE2E) 44z (@)
29 400m 3B EE FE (IVHE) 44 (@)
30 3000mSC 3B & A (Ih#K) 44 (@)
31 4x100m E:] BBITE 44 (@)
32 =EERk 3B B HD (BEFTZ) 44 (@)
33 100m = BR &7 (BIEE%) 44 (@)
34 400m E°g 1HE B (Ews) 44 (@)
35 800m = At BE (Ih#K) 44 (@)
36 1500m = Al =K (BIERAX) 44 (@)
37 400mH = [REA T3Y— (F &) 44 O
38 4%x100m E°g HER 44 (@)
39 Ak x Y B4k (BEFTZ) 44 (@)
40 200m 5 R MEAR (BRI 541 (@)
41 100m = BE EK (BBIE) 54 (@)
42 1500m = 20 B3 (BEAX) 541 (@)
43 4x100m T BiEEE 541 (@)
44 100m 5 BB Inbk (EEFR T %) 6L @)
45 400m 7B #ER EX (/) 6L (@)
46 1500m E:] bl =SS (VD) 611 (@)
47 A% 7B A &A (BT ) 61 (@)
48 Nov—% 7B PR OBE (BT ) 61 (@)
49 100m = NG B (FEde) 641 (@)
50 3000m = B ER (VD) 6L O
51 fah & = i BE (EIHE—) 61 (@)




